
32. Pavane John Dowland




























 








1)









 



























 
   




  










5 






 











































































































 

10 







  






























2)









 








 











  
  





        























15 
















3)
























    





4) 5)












 




 



   











20


 

 
  


 

    





 
 















 



 
    







 


     








  










25 







    







 


 







   



 
















 






  

 













  

 
    



    
  



    
 

30 
















    

D-Hs:Hamburg State and University Library Ms M.B-2768:Schele lute book (1619), p. 28. Encoded and edited by Sarge Gerbode.

5) 3 rhythm flags ½ value in orig.
4) c on 4th course in orig.
3) Note one course higher in orig.
2) Note one course higher in orig. Same in bars 16, 30, 31, 50, 88, 105.
1) 2 rhythm flags double value in orig.
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2) Note one course lower in orig.
1) Rhythm flag ½ value in orig.
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6) Extraneous e on 3rd course deleted here.
5) Chord x/x/x/x/d/f/x in orig.
4) In orig., there is a small x above the d and below the c. Not sure what they mean, so they are omitted.
3) Note added by editor.
2) Let go of this note so it does not create a dissonance with the a on the 6th course. Also, next bracketed note one course higher in orig.
1) 4 rhythm flags ½ value in orig.
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
 




 



 
   



    

   



 




   





 



 








 



 



 




 



110





 



 





 





 

   



  




  

  








 














4)





-4-

4) Dot added by editor
3) In orig, note f and last 4 rhythm flags ½ value.
2) Note one course lower in orig. Same in bar 109.
1) 2 notes one course lower in orig.


